ﬂ J @ % @ tre fraktioner, ordningsfoljd

namn: Datum: Poéng:
2 I 1 1
—+77+11 = =X —— ==
3 3 4 2
1 I 1 1
4 3 4 5
1 1
60+6- 5= S+63+9=
2 2
%+11+11: lxl_%:
3 2 3 3
1 1 1 I 3 3
_X_+_: _ X _—m— =
2 3 4 3 5 2
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tre fraktioner, ordningsfoljd

namn:
2 3 2
—+T77+1l=—="7=
3 3 3
1 29 1
7711+ -=—="7-
4 4 4
1 19 1
60+6—=-=—=9=
2 2 2
2
%+11+11=§=1—
3 3 3
1 1 1 5
— X -4 - = —
2 3 4 12

Datum: Poang: _

11 1 5
37 3 T

1 1 1 17

— X -t - = —

3745 60

1 15 1
Z4+63+9= — =7

2 2 2
11 2 1
2373703

1 3 3 13 3
X - =(—)=(-1=
3535 5 O =0l
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